Es. INTERFERENZA

m 0.0033 Ad=(Ad/d)*d=

max m (m1) 0.0041

min m (m2) 0.0025 ( Am / m ) * d

stima di Delta_m =ABS(G8-(G9)/2

in italiano: ass( d= Nm
: I RISULTATO:
m 0.0033
max m (m1) 0.0041 ( d + Ad )
min m (m2) 0.0025 (e poi unita di misura)
stima di Delta_m [ 0.0008]
Delta_m/m =G10/G7| 24.24% | NB:troppe cifre
) L PR ‘ mmqﬂ-' . . .
significative..

m [ 0.0033] m 0.0033
max m (m1) 0.0041 max m (m1) 0.0041
min m (m2) 0.0025 min m (m2) 0.0025
stima di Delta_m 0.0008 slima i Belfa_m I 0-000‘2’21
Delta_m/m 0.24 lambda (noto) 0.000000670
lambda (noto) [ 0.000000670] g 0.000203030]
d =G12/G7 , Delta_d =G11*G13
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